1/ 0gijer A0dijet/ A X dijet

MC /Data

Xdijet for 1.2TeV < ij < 1.5TeV, |y1 +y2|/2 < 1.11, /s = 7TeV

7\ ‘ T T ‘ T ‘ T T ‘ T ‘ T T ‘ T ‘ T \7
B —+— Data ]
0.1 — —+— Analysis_Alaric_FI_1emnc
r —+— Analysis CSS_FI_1em npN
0.08 — | —— Analysis_Alaric_StartSeale
f | '_I_ . i tartpea U]
= " | : =‘_‘_ :I: !—1,—3_ 1 —
0.06 — —‘hv:::=|£ . ESn ]
0.04 | — ]
0.02 [— ]

o 4+
1.4 = =
13 E- =
1.2 R —=

. E |  — ——| —————
1} iI + + *— ———¢ I —— . =
0.9 = ] I ! 0 | == ! ! | %
0.8 E- I —
07 = =
88 g\ ‘ T ‘ T ‘ T ‘ T T T ‘ [ \é

2 4 6 8 10 12 14 16

=
a
=
o]
o3



